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Number of Questions to be attempted : 21

Section Marks : 25

Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 645178627
Question Shuffling Allowed : No

Question Id : 64517817215 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No

Question Numbers : (1 to 5)
1-5

Read the passage carefully and mark the correct answer for each of the questions that
follow:

Listening is a key skill in communication. It helps in our all-round development. You
will understand the mmportance of listening 1f you ask yourself how much time you
spend in listening as compared to the time you spend m speaking.

To be a complete and mature individual we must perfect our listening. This is because
much of the knowledge we gam 1s through listening. Listening is not merely hearing.
It imphlies grasping, understanding and interacting actively with all that 1s heard. To
succeed in life a person has to be a good listener.

Sub questions

Question Number : 1 Question Id : 64517817216 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Listening is of communication

Options :
L% a subordinate skill

, @ an important skill

;5 % mnotaskill

L% @ less important skill

Question Number : 2 Question Id : 64517817217 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

By comparing the time spent in listening with that of speaking
we can understand

Options :

L the importance of listening and speaking



5 % that speaking is more important

3 % the importance of communication

. the importance of listening

Question Number : 3 Question Id : 64517817218 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Why should we become perfect listeners?
Options :

| ¢ To become complete and mature individuals

> # To complete our education

_— To help others to become mature

4 % Lo speak more

Question Number : 4 Question Id : 64517817219 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

There 1s a difference between listening and
Options :
| s not listening well

) hearing

3 conumunication

4 % knowledge

Question Number : 5 Question Id : 64517817220 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A person who is a good listener becomes
Options :

confident

) % Wise



3 successful

4% active

Sub-Section Number : 2
Sub-Section Id : 645178628
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 64517817221 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify which part of the sentence 1s grammatically incorrect

Students had understand the lesson  well.
1 2 3 4

Options :

L% Students

> « had understand

3 % the lesson

4w well

Question Number : 7 Question Id : 64517817222 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the grammatically incorrect sentence
Options :

| Heis angry on his friends.
There 15 a lizard on the wall.

_— Write an essay on this subject.

4% Try to come on fune.

Question Number : 8 Question Id : 64517817223 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the sentence using suitable articles.
Have yvou seen video of tiger chasing tourist in this area?

Options :



| # the, the. the

) ® aa, the

_— a. the. a

A the.a.a

Question Number : 9 Question Id : 64517817224 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the sentence which has mistakes in the use of articles
Options :

L% A proper noun does not take an article

, ® An article is not used with a material noun

3 % Apples are sold by the kilo or by the dozen

A village we live in 1s the larger village than a next one
4. ¢

Question Number : 10 Question Id : 64517817225 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the following using suitable prepositions:
Pickup thetoy __ the floor and put it the basket

Options :

| % in, back

, % at. of

3¢ from. mnto

4 % on. to

Question Number : 11 Question Id : 64517817226 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the sentence which has incorrect use of prepositions

Options :



L They arrived to the school at the morning

) % Study for the exam in order to succeed

5 % The address of the school is mentioned in the message

L% There is a narrow road next to the park

Question Number : 12 Question Id : 64517817227 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the sentence using suitable auxiliary verbs
You sleep now as you to complete the homework.

Options :
| % can’t used

) mustn’t, need

5 % won't. oughtn’t

4 % mneedn’t should

Question Number : 13 Question Id : 64517817228 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the following with the correct tense forms of the underlined verbs :
While he (walk) home he (see) a strange sight.

Options :
, was walking. saw
1. “

, % walked. is seeing

had walked. had seeing

will walk. 1s seeing

Question Number : 14 Question Id : 64517817229 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following words 1s spelt correctly



Options :
% guidence

) % cemetery

3 « hypocrite

4 » mmschiveous

Question Number : 15 Question Id : 64517817230 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the word whose final consonant is NOT doubled i spelling while-*ing’
1s added as a suffix:

Options :

, ® stop

; % grab

talk

Question Number : 16 Question Id : 64517817231 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following cannot use the prefix “dis™
Options :

| = stmilar

, & Sure
5 # order

L% allow

Question Number : 17 Question Id : 64517817232 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which part of the speech is the word which mostly ends in the suffix — “Iy"

Options :



| % Noun
, % Adjective

3 % Verb

Adverb

Question Number : 18 Question Id : 64517817233 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a one — word substitute for “a person who can
use both hands with ease”

Options :

% biped

, % handy
3 ambidextrous

4 % amphibian

Question Number : 19 Question Id : 64517817234 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Select the synonym of “EQUIVALENCE" from the words listed below :
Options :

L« likeness

5 % likelihood

; % loveable

4 = lovely

Question Number : 20 Question Id : 64517817235 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Select the antonym of “ANCIENT"” from the words listed below:

Options :



| % newness
) modern

5 % lunovation

4 % PUE

Question Number : 21 Question Id : 64517817236 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Select one word from the list given below which has the same pronunciation
as “FLOUR”™
Options :

| w How
5 u fler

3 % floor

4 v flower

Question Number : 22 Question Id : 64517817237 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
By joining the two sentences given below: which SIMPLE sentence can be
formed?
The sun has set. It is getting dark.

Options :

Lo The sun having set. it is getting dark.

It is getting dark as the sun has set.

2.
_— The sun has set and it is getting dark.
4% It 1s getting dark having the sun set.

Question Number : 23 Question Id : 64517817238 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following has the correct tag question?
Options :

L% She could do the work. could she?

) % They aren’t coming. isn’t it?

3 v We came first. didn’t we?

4% You know the answer. can’t you?

Question Number : 24 Question Id : 64517817239 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the DIRECT SPEECH for the sentence:
The officer told them to compromise and close the case

Options :

| “You compromise and case closed.” said the officer

The officer advised them to compromise. “vou close the case.”

. “Compromise them.” the officer told to close the case.

i The Officer told them. “vou must compromise and close the case.”

Question Number : 25 Question Id : 64517817240 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the PASSIVE form of the given sentence?
They helped the gardener to cut down big trees

Options :

| @ The gardener was helped by them to cut down the big trees
) % The big trees helped by the gardener to cut them down

The gardener was cutting down the big trees by help from them.

To cut down the big trees the gardener needs to help them.



General Knowledge

Section Id : 645178514
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 645178629
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 64517817241 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who was the first Indian ruler to organize Haj Pilgrimage at the expense
of the State?
&% Baemrdsn Dol D oir@h day) HEre)S Sod) SnEd o ....

Options :

Allauddin Khilji
&96;;5@;%5 ?ﬁ)@

Feroz Tughlaq
) % 2E°E B

Akbar
3w o8P

Aurangazeb
4% TSoriEa

Question Number : 27 Question Id : 64517817242 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
October Revolution 1s related to which Country?
@g:;mﬁ DHHED, BTNE HonoBoDHe ?

Options :

United States of America (USA)
1. % ®hbse

France
[@=x)

2. %



Russia

Baks

Germany

mé@ﬁ)

Question Number : 28 Question Id : 64517817243 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The famous “Angkor Vat™ temple 1s situated in which of the following

South East Asian country?
BRI ‘wotHbards T Barechin &b BE5W ...

Options :

Thailand
| % Groneroh

Philippines
CoENGY

Cambodia
3¢ Lodblosre

Vietnam

. wdﬂ]@v&&

Question Number : 29 Question Id : 64517817244 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is considered to be the oldest Veda?
dorod odFrddiDBs.. ...

Options :
Sama veda
L% N ST AT P

Yajurveda
5 cheBatsdm

Rig veda

3o mﬁ&iﬁ‘ﬁn



Atharva veda
. Clatelys ot

Question Number : 30 Question Id : 64517817245 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following countries 1s world’s largest tea exporter?
[S0S08 Chidaltelay BEE AHHS To BESL ...

Options :
Sr1 Lanka
L% Beod

Kenya

2. Qatg

India
. et a5

China

B
4.9

Question Number : 31 Question Id : 64517817246 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ganga 1s a result of confluence of rivers Bhagirath: and Alakananda at

which place?
arAB6, wosebol HoldHdn Had Korrdd E'JESQ]&% HaE5m.

Options :

Deva Prayag
L BB (sHaseis

Karan Pravag
88 o

2. %

Gangotri
Fotatat e

3. %

Rudra Prayag

L x O Baser



Question Number : 32 Question Id : 64517817247 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
National Disaster Response Force (NDRF) Academy i1s to be established
in which city?
= Bob JKBoSE erfich D5y HOBEes S¥Sw (NDRF) esseiiah EDU‘:J@}
E‘Soﬁjeﬁ%&m&d}
Options :
Mussorie

S0P

1. ®

Dehradun

) % [eibsinvis)

Nagpur

 oehayed
3.¢

Hyderabad

L% Ehilatectila)

Question Number : 33 Question Id : 64517817248 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to treat Municipal water in India ?
arSSBEoEY Siioradt HAaY ?‘:fm‘g Scoheosd g o“’:ucaﬂgs’m

Options :
Chlorine

&85

1.¢

Potassium permanganate
grérhaho ém&oﬁ?ﬁﬁ

Sodium chloride
FPhoho E8E

Sodium carbonate
ZE&aho 505“;565

Question Number : 34 Question Id : 64517817249 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In which city of India 90% of world’s small diamonds are processed ?
g8 BB % Siidod® HHoSostD 90% &Eﬁ&.‘;’n&c‘ﬁ}nwoéﬁ He Hlgzren

HY DX....
Options :

Baroda
| % B

Mumbai
) % SIDORPOD

Surat

| o G755

Jaipur

4. % b

Question Number : 35 Question Id : 64517817250 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A Bank included in the Second Schedule of RBI is called as ...
Basifng 3313505 @) Bokd 31(‘53055 &° 15)6&26 aPGOEND ........ BOLTLD.

Options :
Scheduled Bank
L ?;1(.".}'35@ mgog

Commercial Bank
éé}ﬁﬂdﬁe’f 230505

2. %

Nationalised Bank

B0 argoB
3. %

Regional rural Bank
L% [rofich (redoes 2508

Question Number : 36 Question Id : 64517817251 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s a condition of delaved blood clotting?
B8 shere ﬁ%égﬁ 283

Options :



Hemorrhage

Hematuria
S Boie

Haemophilia
3 & SPAredoie

Anaemia
4 % DDA

Question Number : 37 Question Id : 64517817252 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Balloons are filled with .....
BerdS® Dod arcing

Options :
Helium
Argon
[ET0,2S)

2. o
Nitrogen

3. % fEen

Oxvgen

L e_agr:,aﬁ

Question Number : 38 Question Id : 64517817253 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The inspiration of Liberty. Equality and Fraternity was derived from .....
'foéz‘ﬁt}, BTV A WY 2P grddm @5 DAGTEOD ... oo [Herodalnd

Options :

French Revolution
v Bl ARSI T

American Revolution
. ® ©HBES DD



Russian Revolution

_— fjﬁvé DHHHD
None of the above.
.y 238 =5,

Question Number : 39 Question Id : 64517817254 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Qasim Soleimani. who was killed in the US airstrikes was the military
commander of which Country?

adbe o aiod ST &S PHEDS soho DB @ B8 DO

E&roid ?

Options :
Iraq

1% o)

Tran

- BO°R

Israel
Slvilevita]

Syria

4w 2B

Question Number : 40 Question Id : 64517817255 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘Soubhagya Yojana’ launched by Prime Minister Modi 1s associated with ....
(Hped ool® Frhd [FrBodosalds ‘Freriigared’ , srozgio 8 [Bob

DHATOE SonobodBt.

Options :

Girl marriage
| % @PbEe arsrsin

Maternity
5 w B8 B5chEn

Female fertility
" Do Hosel ey



Free electricity connection.
, 608 Dxd BIKS
4. =t

Teaching Aptitude
Section Id : 645178515
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 645178630
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 64517817256 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A Teacher can develop social and moral values among the students by:
Sarggond &5 Sjmﬂégtﬁgﬂé’s Frodng HHbcn 8K Denden cner oSO
Options :

Celebrating all religious festivals
08 HBN ) dothien ABEroHe) Txo°

Delivering lectures about the festivals
Sothite HbBod) éorgeen cnind oo

Discussing relevant television programmes
@B Tl SHH 58 [Eire 38 oo

By being a role — model for his students
SXDTFBOH 5% Brad (role — model)e &oibHes (npo

Question Number : 42 Question Id : 64517817257 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Use of teaching aids can help teacher make:

S HE8mre DIGTKo Bob Sargrsoine Ser éﬁtﬁgc‘ﬂjéj:
Options :

Content easy and concrete

. 30655 DNcDSw HEHx) HdAH Drdiw e GotHe
1.



Lessons seems abstract

_— ardainen esdhrddnm sothed

Teaching interesting

S end Benihen
3.¢

Teaching less burdensome

4% £ epBHnsdothHeth

Question Number : 43 Question Id : 64517817258 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The role of a teacher is to:
Sagegdind e cn:
Options :

Cover the syllabus

| Db b doine

Discipline the cluld
, w @l [E8EeH

Guide the child and facilitate knowledge construction

, erend SrSSusnt Hochn el Jomesdd &heivdhetd
3. 2} 'd = @ @

Evaluate homework and give grade
5085 SwrergoBHsm o [Mitden on Bt

Question Number : 44 Question Id : 64517817259 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ability of an efficient teacher 1s
! GarregdinfHol Honld Syl S* e

Options :

Ability to explain the learning material with clarity

" &f:-;;ﬁgﬁé &\".ﬁdﬁ;‘v?\“& é\%’g_orw D500 doan
1. e

Competence to plan and provide effective. goal- oriented learning experiences

(BeeEE Trgoe (el oD Hnbain ﬁfﬁog—ﬁg%é @500 eiogaren anid) fwaﬁjgso
2. CT -

Generating camaraderie between vourself and students
Sochodh o865 Dorcthe Dotk BewHflen SHo Dohe
3. % o 5



Skills to dramatize learning experiences

, x OUHTOYSEen 08E00H Jessn

Question Number : 45 Question Id : 64517817260 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As a teacher, what will be your response if students do not attend your class?

33{3“55@3&)3 o #5058 & et ool esagrgaintre & 085S 2End?
Options :

Counsel the students regarding their attitude positively and calmly

L% Duegtie S8 396 hesrdiore Sbain Adyodre Do(Besn BdSné

Criticize students for not attending the class
HENBE Hhath seEfondothts 3)@115&55@?6) B0

Try and analyze the reasons for their absence and try to rectify the same

Hesth seHhothe sedmren DFB0D HbcH AN HBIcnGHDH cHFHPDHE.
3.V

Incorporate more interesting strategies of teaching
L% S5’ 08 abd 85 segssten Erothdtidhe

Question Number : 46 Question Id : 64517817261 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Questioning in teaching is useful in
S5 &ohés S dore SHAPHHKD.
Options :

Discipline the learners

egrgutol (5 85w Sohe

Ensuring active participation of learners in the class
_— ©grRgdgien SB5aE° HHSHme ﬁ“@‘??ﬁ:}é&}g grah HD8SHe

Preparing learners for exanunation

eogrgHei SO Sotrdh Pasoe

Rote memorization of facts by the learners

L% @eg‘g?éé)m m}mgm@m éoééo FohEo



Question Number : 47 Question Id : 64517817262 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Technology 1s essential in education because it:
3)(‘5593'5 FOBHES wEegHEEo, JohHEdT of :

Options :

Makes teaching effective and efficient
AR ALY %vgée‘_ﬁ snBain BSES ééjvé;,ﬁ@ﬁﬂ&

Maintains high standards of education

. ® 365565‘5 &S (Ddrmren SPari

Makes teaching less burdensome
F058 erddn sehore DS

Is adopted by elite institutions

SIS HY Doden @DHeodoHiHh
4. % © e

Question Number : 48 Question Id : 64517817263 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A good teacher aims to:
5000 Sargegaind ﬁaé%égb&::

Options :

Finish the svllabus
| % o0 8 Salourelin

Please the principal

5 % [@yard & Ho& e

Bring good results
$00t) HDeren Sk

Make students learn
g]t;j"gij@)ﬁlﬁﬁ SISV BonoHe

Question Number : 49 Question Id : 64517817264 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who founded the first Kindergarten which tocused on growing young minds?
D F) NG D SR PGS Iodd Boxb OIS H =BHAD BH?



Options :
Maria Montessori
sobaie a’nvoéﬁu?or:]&

Frederick Frobel
(368 |gtad

John Locke
5 % &0 o6

Harriet Martinean
SBBoes Bﬂ}ngéﬁ e

Question Number : 50 Question Id : 64517817265 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Evaluation of learning outcomes means:
gl Hlaren Srergo8Rsndme :

Options :

Making judgments based on gathered evidences related to students leaming

- Sjmg@@ @300 HoglohHd ?{J:‘,ﬁiﬁgmﬁ} mﬁmédﬁn étﬁ}ﬁ]m

Formal testing

5 # &Uﬁgﬂ@ﬁé&é D8N, Kltﬁéﬂjvoéaéa

Awarding numerical scores

5 shogrg DBHN Messinen cndné

Gathering evidences related to students’ learning

" qu:rﬂgﬁgt) egf50s Somofs ﬂtﬁégaﬂw SEBoSE
4.

Geography
Section Id : 645178516
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 35
Number of Questions to be attempted : 35
Section Marks : 35
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 645178631



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64517817266 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Theory of continental drift was proposed by

por S drrodind HS HODD 7D
Options :

Harry Hess
1. ® gy@ Eus
W.M Davis

, % WM @96

Alfred Wegner
A ¢ wo(@mE 356

Humbeoldt
a’rofﬁ“fb;

Question Number : 52 Question Id : 64517817267 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The longest trench in the world is
[otos? SrEds Borssn &5 et

Options :

Mariana
2B

Peru chile
= 2D

Jawa
oz

Kurile Kamchatka
%08 85 J6E

Question Number : 53 Question Id : 64517817268 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which one of the following seas / oceans has the maximum salinity?
& (Bob ar@E° DB|BED /B3 Dw|BEnd® weshy eHBCHE EBasn) Ham|ESsn

Options :

North sea
. &85 HnBsw

Pacific Ocean
SDHPE $H055E HHm(Essw

Atlantic Ocean
wéro®E i HnEidn

Indian Ocean
S0t 0 Ham(essw

Question Number : 54 Question Id : 64517817269 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Neap tides are smaller because
ofn He édorren orer DT soficel Ko sedmsinen

Options :
The moons gravitational force is less

So|thd (ﬁ:oé& ﬁ}d}@véédsa S8 éﬁé}@énﬁ &otdo
1. % =l

The sun and moon do not act together
. Soetingth hBain Holthen Send BE 9850

The gravitational attraction of sun and moon tend to cancel each other

-~ Soetiogth $uBoin Solthen HfveElme w¥dmen 2.8%) Dfdnmr sokein

It takes place at night
L% oS Sdoohined® B8k

Question Number : 55 Question Id : 64517817270 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the most important element of climate ?
8% %}7&@5 orer Soggedi oo a6 ?

Options :



Rainfall

L% ag@»@m
Pressure
5 &880

2. #
Temperature
&@é@ié

3. ¢
Humidity
|63

4. -

Question Number : 56 Question Id : 64517817271 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not a greenhouse gas
& Bob >B&° ASFD iR & Hozolo B0 HESH0

Options :

Carbon dioxide
80 8 =86

Methane
BS

Nitrous Oxide

s Slod =86

Nitrogen

- BE°eS
4. ¢

Question Number : 57 Question Id : 64517817272 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ozone is produced in the
o8 L858 648 0

Options :

Mesosphere

" S e3dBeardn



Stratosphere

{%@ej&’)émﬁm
2. ®

Chemosphere

3 @ B3 e3dteesn

Magnetosphere
A% K})ﬂ&ﬁﬁ e ERE0

Question Number : 58 Question Id : 64517817273 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Doldrums is the zone of
Ao (@rosbnen Hotodns® Lo

Options :

Inter Tropical divergence

" @088 s eondes
1.

High pressure
ohHE SHeiaren

Westerly wind
H&ED DHidaren

Inter tropic convergence zone

4 v @088 echen ©§H5es3n

Question Number : 59 Question Id : 64517817274 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Cloudy nights are warmer than clear nights because of
©5eE5N DGodnT 6 Tl@en 85 335)3@&9\6@_}5 orlshed?

B e SoXErD8 Ko seBEm
Options :

Green House effect
| o 1B5 55 Sarssm

Depletion of Ozone laver

, x S8 08 ges



Isolation
3 % s aheaain

Terrestrial radiation
" E@@dﬁx’i’ D880

Question Number : 60 Question Id : 64517817275 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The world’s first tidal power plant was established n
(oS0 SnEENSE woods étéaﬁ:a Gl ﬁ;%oéa}&aﬁ&

Options :

Kisalaya Guba

L Erech Ha

Rance
e

Kandla
sP0

Kavaratti

=558
4. % ‘"

Question Number : 61 Question Id : 64517817276 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Growth of population of the last hundred vears is respectively shown by
HEDN Hodd Dodédime aorgr wRihien & wgoe B0 S

Options :

Bar graph
L& FOT

Line graph

B
L o 0P

Proportionate circles
SERSFE Hmren



Histogram
3P e
&©

Question Number : 62 Question Id : 64517817277 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The highest growth rate of population 1s found country
oS08 argr DHINEe Bén EOAS Tds0

Options :

India
| et BEo

Malaysiya
5 SoBHATe

Srilanka
B0k

Bangladesh
DOEOS

Question Number : 63 Question Id : 64517817278 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Improving Human welfare without causing damage to the environment is called

5’3{%550“59‘3&]% 0 esBfBone BEhe :}Oééﬁj"gjg SHAPEHE D (Eleltey
Options :

Regional development

- [Eroficsh o858

Regional planning

_— (aroficsh (Herds

Sustainable development

DB08E @b
3.¢ =

Resource analysis

St BN
4, %



Question Number : 64 Question Id : 64517817279 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Generally the soil of the northern plains of India has been formed by
Teseiigare g A L-0%) &85 @m?ﬁéﬁ;ﬁ% SpBfen  Bed SleNataty
Options :
Degradation

| Dt

Aggradation
=058

Weathering in situ
Sen &° BBeEn

3 %
Erosion
) [ExH Bahdn

Question Number : 65 Question Id : 64517817280 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Nokrek Peak lies in the state of

5068 dpSam U"{;ugél}]éﬁ oS
Options :

Arunachal Pradesh

L% oSS (HRS

Himachal Pradesh
edrdd  (HOS

2. %

Meghalaya

y o DEED

Uttar Pradesh

,x O30 B38

Question Number : 66 Question Id : 64517817281 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The East —West corridor join
Sr8n-HE5S B°Breben & EDcs0



Options :

Aizwal with Okha

| = 287 H08 Lee

Dimapur with Kandla
85756 ol ol

Silchar with Somnath
nEb Hiod FHHoH

Silichar with Porbandar
hoeb 2of 588 2o%b6

Question Number : 67 Question Id : 64517817282 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The thermal power plant of Bokaro 1s located in
788" & Graross S8 $0 & JoFenadsh

Options :
Bihar

876

1. ®

Chattisgarh
ol Tete]
2. % ®

Jharkhand
3o 20 Ho&

Odisha
5.85p

4. %

Question Number : 68 Question Id : 64517817283 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In India Human population has higher number of younger age group because of
2B azaeyedd ahEgd  Hohily) avrgr el QEPHT Sothbhd Ko sednin oi?
Options :

Long life span and low birth rate
. ©fE #58 (Hiremsn HBcn SEH b 08



Short life span and high birth rate

- eoeigen 258 (Hdreedn  HbBatn ©HE add B

Short life span and low birth rate
e 258 (Heresm  SobBcn SERSH 280 8¢5

Birth rate 1s equal to death rate

A% 2% Btn % Hdrddomr Hde B

Question Number : 69 Question Id : 64517817284 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Modern Industrial development of India is largely due to
estE arB|EEnE &a&ég% 2S5 B508° mbEdnrr =5Kee08 Ko 5e8mdm

Options :

Rationalization of raw material
Snd sﬁmogém@é; Hamedtesdn DobhEdn

Availability of skilled man power

DEWBH EH $B efoitsn
2. %

Liberalization of Government policies
Eighdy HEEHnen Dedstin dabEsn

Increase i market demand
S0)E5 (aroriddid efEHn Joho

4. %

Question Number : 70 Question Id : 64517817285 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IR 20 and Ratna are two umportant high yielding verities of
o e85 20 Hobcin By ©x B0 Swggehld ©fE Bibald HSoticeen % TohHHd

Options :

Wheat
Rt

1. %

Bajra

Zsamteso



Paddy

v 0

Jawar

L% B8

Question Number : 71 Question Id : 64517817286 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Laksha dweep islands are of
of é)ééa’m 6Hen 230000

Options :

Volcanic Origin

L% @ﬁ& éé&é &%Eﬁoﬁn&} Head

Coral Origin
Serer  SthHRdne Hed
- [Barer i) e Be

Tectonic Origin
T sBE sedme Heol

3. %

Alluvial Origin
4 x 808D efdEkne Hob

Question Number : 72 Question Id : 64517817287 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is at the lowest height above mean sea level ?
% (Bob 8 & (Froddn DEnis SotpDE S8y QS Bodh 2

Options :

Delhi

1.V&Q

Jodhpur
. 5856

Kota

3 % S



Nagpur

L Jnsged

Question Number : 73 Question Id : 64517817288 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

There 1s a concentration of Iron steel plants in Chotanagpur — platean
because of the following reasons
Seraehaeb Hi5erd (BrosHndg® aiudn Hbdm &5 ‘&'}0%@3 éo@%{ééﬂ)mg}%

©ErDoD seBesnen
Options :

Technology 1s well developed

. FOEBE HBSwre orer @i'a'ﬁej% BoHEsn
1.

Raw material is available

) Swod m:rvga'mm ©gfses

Cheap labour 1s available
;. % D8 (FEben egifEndian

Mechanical power 1s available
4w 05088 88 edfnsisn

Question Number : 74 Question Id : 64517817289 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is considered a hot spot of biodiversity in India
% (Bob &SP grds S850s%D éé@&éﬁé}ﬁ& {—153@ Eﬁ"égcge_:sﬁj
BOS (ghossm

Options :

Aravali Hills
| % s ® BPodien

Western Ghats
5:1%;:,&63 gdnsnen

Indo-Gangetic plain
RodE Hore Shridsn

Eastern Ghats

sty Eidosoen
4. % o



Question Number : 75 Question Id : 64517817290 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the name of the strait where Adams bridge is situated ?
o) BOJ0D PS @) H03 VPPTDEI ?

Options :

Bearng strait

% BBoh 2eH0d

Cook strait

- %E 2e50b

Palk strait
3 ars melbod

Taiwan strait

870 230H0b
4. %

Question Number : 76 Question Id : 64517817291 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chilka lake is located in the State of
Dery 28350 m@m@ﬁ Beth
Options :

Odisha

L LB

West Bengal

5 % D8 ForrE

Tamilnadu
3 % SETED

Kerala

B5¢
4. %

Question Number : 77 Question Id : 64517817292 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Aenal Photograph 1s
QBAHS PEESITD ©@dh
Options :

Two dimensional optical model of the terrain
% B (Heed Hares 4irgrnian

Omne dimensional optical model of the terrain

5 % 08 Bod (Hevd  Siore ghrgriisin

Three dimensional optional model of the terrain
3 ¢ (@ BPexa [Psed Dibores dirgriian

Oblique model of the terrain

A% g griidn o) aren Hiures

Question Number : 78 Question Id : 64517817293 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Where is India’s well established data Centre of supplying of image data situated ?
P58 D80 s5rE der G Do BolBdw WHE IJBDEHS ?

Options :

National Remote Sensing Centre, Hyderabad

- @05 B BolSdn Frorart

Indian institute of Remote sensing Agency. Dehradun
BHah SH SERVEI Rl

Department of space research Centre Bangalore

3 % ZoliErt wos8E $B8%55 BolE Deriism

Space Application Centre, Ahmadabad

L fo;,% ®3E55 So(to, @a’ﬁémwﬁ

Question Number : 79 Question Id : 64517817294 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The climate of Telangana State 1s
BOOTTES Dv@i’.gj %@éﬁgg e S5

Options :



Semiarid monsoon
&5 e30%ee Dy 20HSS

Arid monsoon
3656 OB 200ehHnssd

Wet arid monsoon
B eaces OB 200eHDDd

Alpine
85 0

Question Number : 80 Question Id : 64517817295 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to 2011 census in which place does Telangana State comes
in terms of population in India .
2011 emrgr BEo (Hs85n gr88 0F eargrd® Buorres oelgiem_ 5{;&65333

Options :
|« 12% Place

_— 13% Place

; % 14% Place

r 15% Place

Question Number : 81 Question Id : 64517817296 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Tirumala (Tirupathi) Temple is in which of the following biosphere reserves
Ao ( 8HB8 ) Borochsdn 5 esdde Jaded® ok

Options :

Nilagiri Hills
| # He:Rb Botlen

Achanakarmar — Amarkantaka

) % 25586506 - wihbEoss



Seshachalam hills

3¢ BhSerdn oXen

Ajantha hills

4 u ©z0z° Eoien

Question Number : 82 Question Id : 64517817297 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Smart money 1s a term used for
;%uégaa;eﬁ o HESHNSB &%
Options :

Cash with bank
50551 D& m?sog

Cash with Public
sa A8 HUS

Credit Cards
BT ==
30 i

Internet Banking
50063¢5 agoloh

Question Number : 83 Question Id : 64517817298 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Earthquake is caused by
gir¥odsnen _ sfmime o ayhd

Options :

Disturbance of earth surface
L@ & anbdesn @:oéé moihe Do

Adjustment of Layers of earth crust
, u & Herodnd ) srdod? Sartn B)EEED

Breakage of rock system
Be> Eég&ﬁ@ej@ﬁ DN



Uplitment of rocks

A% oo (ﬁ)}é& t%rééca

Question Number : 84 Question Id : 64517817299 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is not correct ?
& (808 HS° KOS SEgED 500 7

Options :
River Bhima originates from Maharashtra

- D 8 ForHod® 66)DoDIB

River Ghata Prabha Originates from Karnataka
, o [0 B 50 Eer8s? &ef)DoDKs

Mandovi is the main river of Goa
3 w e Broid 36 [HeedHis

River Amaravathi originates from Tamilnadu

4 1 ODTHS B0 SWEFHS Do

Question Number : 85 Question Id : 64517817300 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Ninety — East ridge 1s found 1n
Sonb -8ty §onsn &P e

Options :

Indian Ocean

v srotire 05 Hadn|Eien

Atlantic Ocean

) % weroBE HiF HHn(sn

Andes mountain
208D 58sEm

3.8

Rocky mountain
4% oog) HBEDm
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Question Number : 86 Question Id : 64517817301 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In which of the following States Banawali an important Indus Valley
Site 1s located?
oy Doth S°ah BB adrd % Bod Gﬂ@zméﬁ B 6 ?
Options :

Gujarat
% rozoes

Harvyana

v
@ TOFTT

Rajasthan

3. % OBRES

Baluchistan
mtﬁjﬂﬁ)cﬁgc’ﬁ

Question Number : 87 Question Id : 64517817302 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following founded the Vikramasila University?
& (808 708 5 DEHBe DEDTROAFY) FDodTH?

Options :

Devapala

% Gdare

Gopala
Roare

2. #



Mahendrapala
3 % Soarols are

Dharmapala

p BB)are

Question Number : 88 Question Id : 64517817303 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who was the founder of the Haryanka Dynasty ?
550508 DHod f’;g‘.ﬁé}ﬁﬁj 2D H?

Options :

Bimbisara

- 208)artth

Bindusara
Soiarthth

Brihadrada
Capaalaley

Haribhadra
SeBaf|ntd

4. %

Question Number : 89 Question Id : 64517817304 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following wrote his own memories?
& (BoB oBE° B &5 Qyen Sgosore TRnHaznh?
Options :
Akbar
Slytey

Shahjahan
apessts

Babar
Rt ey



Humayun
A% Srodrdirs

Question Number : 90 Question Id : 64517817305 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which Pallava ruler of Kanchi was a contemporary of Samudragupta ?
o) Jed orer SHnEIDEN BshseDEh?

Options :

Hastivarman
58 $4S

Vishnugopa
&f.gﬁﬁa’g)eﬁa

Mahendra varman
é}ﬁ}vo@ﬁaﬁé‘ﬁ

3. %

Nandivarman
Hob Eﬁd&S

4.%

Question Number : 91 Question Id : 64517817306 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Aitereya Brahmana belongs to which one of the following Vedas ?
o Tolow [emsye0 &8 (o Sored® 08 HonoBodoh?

Options :
Atharvanaveda
Slaleli S0

1. ®
Samaveda
5 % S n afe
Yajurveda
3 % dﬂaes’f‘f‘gﬁﬁo
Rigveda
A tﬂ)ﬁ‘ﬁcﬁe

Question Number : 92 Question Id : 64517817307 Question Type : MCQ Option Shuffling : No Display Question Number :



Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which one of the following Chola Kings constructed a new capital

known as Gangaikonda Cholapuram ?

& (Boh oY oerod® IS Kop ol SPeiyoeR) E&odaetn?
Options :

Rajendra I
| @ S0B& ooEolthtd

Rajendra II
, % OO0 oeEo|thth

Kulottunga I
3w DB HE%&horheh

Rajaraja I
4 % 08 orezover

Question Number : 93 Question Id : 64517817308 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The admuinistrative setup to supervise and regulate the market control system
introduced by Allauddin Khalji was under the purview of
@a;gﬁ%ﬁ G a3 288 5r0)ed Acholdes Dgeariy $5§5§0§.‘136 HBareid
cholgroo b?

Options :

Diwani — Arz

| Bzrd —@g

Diwani- Riyasat

- B8 - BaHE
2.

Diwani- Insha

_— &@ﬁ)-&a&

Diwani- Adalat

A Bard - ooras

Question Number : 94 Question Id : 64517817309 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the ascending order of the following Cavalry officials of the Marathas ?
Soorere ©BEEY efsrthe wH5 e Ko J8?

(a) Hawaldar

KPEJ&,ES
(b) Jumladar
edirrd
(c) Hazari
Soeed
(d) Sar-1-Naubat
56,2 Fad
Options :
~ab.ed
1. ¥
, % b.a.c.d
5 % cdab
4 % db.ac

Question Number : 95 Question Id : 64517817310 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

During the Delhi Sultanate Period the term Ghanima meant
&8 HerHo scoosd Hdr ol H8o 308 ©50.
Options :

Market Cess
| % 05 B

Dirigation tax
H& e SE

2. %
War booty
Gintiod® BPeaff@ob

3.4 @ .o
Toll tax

4% &85 (S

Question Number : 96 Question Id : 64517817311 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

The first phase of Indian economic exploitation by the British Colonial
rule was known as
D8R Hob droae seeodt grds B @gé &8 Fndd B85 & Diore
ST eVl

Options :

De- Industrialization

| 0D Ged

Laissez — fair / Fee trade
) % ﬁ)éajj anééﬂdo

Finance Capitalism

e stnal
3. TR T

Mercantalism

. noBbeo

Question Number : 97 Question Id : 64517817312 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following in correct chronological order of their establishment
& (8oh 78D @ 5;5’3%6 JodéBo srrdorr [Bariis (BB Shvilafela

(a) Tatvabodini Sabha
3SBEHD D

(b) Adi Brahma Samaj
b (559 DDreo

(c) Servants of India Society
$50083) e Bodcir AR

(d)  Prarthana Samayj
@vgé Sieo

Options :
a.b.cd

1. ®

~b.ad.c
2.V

3 % c.a.d.b

4« dbac



Question Number : 98 Question Id : 64517817313 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is wrongly paired ?
& |80b 8BS DB Sy =8 Tohadod ?

Options :

New India — Bipan Chandrapal
| % &g modicir -5 Sollard

The Hindu Patriot — Sarat Chandra Chatterjee
& Srodir BT - BE ol éﬁag

Rast Goftar — Mirza Gulam Ahmed

o] b - diprbero e
3.¢

The Socialist — S.A Dange

L% & @ﬁa’lﬂ}é - &59 .o.zron

Question Number : 99 Question Id : 64517817314 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following led the Chittagong Armory Raid in 1931?
1931 & ﬁoéé&éoéﬁ % (Bob B8 ALY rron edingeedo 2 w00 oo88

WS TFeaHES Seromty ?
Options :

Sachin Sanyal
L a 008 S

Suryasen
Svlels =5

Rashbehari Ghosh

. oS8 5%
3.

Jatin Das

A% 22838 PR

Question Number : 100 Question Id : 64517817315 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Who was the author of the Book. ‘The High Caste Hindu Woman’.
B Te sy erotdh 687 (o BE abh?
Options :

Savitribai Phule
L% @aronrd

Sarala Devi

Pandita Ramabai
Sofé Bimraron

Sarojini Naidu
$56%20 et

Question Number : 101 Question Id : 64517817316 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following was the president of the Indian National
Congress for Six Consecutive years?
&8 Bob 7B Q8% PBB eth Rondoren b 285 sPoRDH
eisEthre G ?

Options :

Abdul Kalam Azad

L S Eoro wrh

Jawaharlal Nehru
, % aRberd ke

Subas Chandra Bose
5% PR SolaS

Dr. Rajedra Prasad

L 5. ool BHars

Question Number : 102 Question Id : 64517817317 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following was not a leader of the All India Hindu
Mahasabha ?
& [Bod TB8° 05 ede s Srolr H5hY Tohith =th?



Options :

Dr. Shvam Prasad Mukherjee

| g8 Fgoldrh Kmmé

V.D Savarkar
5 % D.&. 5“5505‘;5

Bhai Parmanand

s FO0 HESFHob

M. R Jayakar
4 OD0.©5 20D86

Question Number : 103 Question Id : 64517817318 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Where was the 50™ Session of the Indian National Congress was held and
who presided over it ?
grdes erfich oD 50 & Sraido UE)E 2600d ? o8 efiEs Hirodod JBH?

Options :

Meerut B JI.B. Kripalam
oi5e5 - é.é’).%&'ﬁ@véﬁ
1. %
Belgaum - Mahatma Gandhi
Bero - 3535’35@0@, mob
2.% 0
Lucknow - Sardar Vallabhai Patel
- o8 - Seb Segron HBS
Faizpur - Jawaharlal Nehru
- &5 - 2Nm0erd I

Question Number : 104 Question Id : 64517817319 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Treaty of Srirangapatnam was signed between Tipu Sultan and
18 ot B&es0 DG Bhy Hepd  HBH B0 My 2bACH?
Options :
Robert Clive

oeab 85
1. ® 0=



Cornwallis

A =
) SDEGL.;}D@;U

Wellesley
3. % 3‘2&

Warren Hastings

£_ o %
L FVie ) mgoﬁd

Question Number : 105 Question Id : 64517817320 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which vear Dr. B.R. Ambedkar founded the all India Scheduled Caste
federation?
mgﬁ £).esb @oéiﬁ@g o) 50555;3?60655 @fle) grde Eltﬂjﬂseg Lere) DEDAS
Slej oy DH?

Options :

L w 1932

, % 1940

3 v 1942

4 % 1945

Question Number : 106 Question Id : 64517817321 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following Empires was known as the Prison of Nations™
& 800 &S © rEirego ¢ ardhe Beorr Hendadod.
Options :
Russian
1. ¢ 5;"‘55

Chinese

, % BO

Roman
858

3. %



Egyptian
R0
® &

Question Number : 107 Question Id : 64517817322 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which vear the Gregorian Calendar was mtroduced ?
OnBcHhS 5000 o HoDH B0 eendtDs Hihod?

Options :

| % 1458CE
, v 1382CE
, % 1605CE

4 % 1650CE

Question Number : 108 Question Id : 64517817323 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The first Railway train in England carried the passengers and Freight
from which of the following stations ?
2008 %9 InkAnss BTy [BSS Bod JhSes® Hardheh Hbo

H8%et Sare Do
Options :

London to Manchester
oots - E&}DOBQS

1. %

Liverpool to London
, # OBBIPS -00ks

Liverpool to Manchester

, o DB5Eré- SroBgb

Dublin to Birmingham
EDd- DB
4.8 T ¢

Question Number : 109 Question Id : 64517817324 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which one of the following countries obtained permission from the
Turkish Sultan to build a railway line from Constantinople to Baghdad

and the Persian Gulf ?
& Bob & & Bd¥o DenS Hod 5°VFoBI LS Hod wrrpEs,

Hdain HHSHS KE) HBH BT B8 Noyrds edihs robod ?

Options :

England
L% BOMPO&

Germany

L atﬁé@

Question Number : 110 Question Id : 64517817325 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following Events m the correct Chronological order of
their Occurrence.
S(80b Dompddeonh o8 23bhE Sosdbo egrdorr HEBEHE Esoos®

&'JXDQJD&

(a) Attack on Pearl Harbour by Japan
b D D aard b

(b) United Nations Declaration
S03BE 58 BE0AS

(c) Entry of soviet Armies into Berlin
3OS &8 WYheS g0 [Had¥o

(d) Treaty of Versailles
S Hod

Options :

| abed

5 % b.a.d.c



c.a.db

3. %

~d.a.b.c
4.

Question Number : 111 Question Id : 64517817326 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following was not a member of the Directory established
in France ?
& (20B B8° |3r5S° QTE Qaéé &b Dghgen =R et DG?

Options :

Carnot
Soi5es

1. % =

Lare-Vellier Lepax
, # ©°0-30cHb BarE)

Napoleon
JIEPOAHS

Letournier
865’55&4_:35]5

4. %

Question Number : 112 Question Id : 64517817327 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following countries in Africa was not a French Colony?
28’ S (Bod dwad® IpS) Sod d¥o =08 26?

Options :

Ethiopia
| v BOEEDOT

Tunisia
gngRoadio

Algeria

3 % @%&dﬁ}v



Morocco
4 ® Rooes

Question Number : 113 Question Id : 64517817328 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Gold Coast was the Colony of which of the following countries?
ﬁ"‘@ %5%- &% (Bod Dest B0 Hod B¥o ?

Options :

Belgium

| % ﬁgcﬁjo

Britain
EALSS]

Spain

_— Eyents)

Portugal
4 % SRS

Question Number : 114 Question Id : 64517817329 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following countries did not participate in the Congress
of Vienna ?
& (Bob arBE° Hohar) srofie &° ﬁvéjéé'd Bdo 2B?

Options :

Britain
| x B0

Germany
sty
Turkey

3 ¢ éaé&

Russia

4. % Sl



Question Number : 115 Question Id : 64517817330 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following was known as the forerunner of the League of Nations ?
& (BoB B 0B mror =28 S8 &8 SgEore wmdadod?

Options :

Treaty of Westphalia
5%?955}053“ Hob

Berlin Conference
BOS BdrIdo

Treaty of Severs
2080 Hod

The Concert of Europe
chrBihahsS s5aoag

4.

Civics
Section Id : 645178518
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 645178633
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 64517817331 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Communicative Justice 1s that which 1s understood as a property of:
ngolds aegahaind E}go“’m RS ORTA
Options :
Conduct of State

L w T (23858

Conduct of Individual

L o S8 (BE50



Conduct of Law

L x O8 B85

Conduct of Judiciary

a0 E8ES

Question Number : 117 Question Id : 64517817332 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Equality as a distributional concept 1s used to indicate desirable set of:
HohB By SdrddgEn Srdodd Eﬁrj)gﬁcsi‘éa}.

Options :

Social conditions
v P oy pat %@r{éam

Economic conditions
2368 hHfiKedoen
[ G

Political conditions
oeezdah 28K Hen

Cultural conditions

. ﬁﬂoége}é@é ?gé'&ﬁéé:-m

Question Number : 118 Question Id : 64517817333 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The theory of natural rights rejects the idea the nation of:
Diees SFEye &t;goé_‘éaﬁn BBBoH gredid

Options :

Individual authority
| 58K fseBHn

State authority

5 % 0% 58w

Social authority
" rord @bse8dn



Absolute authority

| T0E oH=55m
4.

Question Number : 119 Question Id : 64517817334 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Political Sovereignty symbolises
Tesdch FHRFErH SO5W H$088EB0DHDG:
Options :

Will of the state
orag aﬁfg:

Will of the Government
[HEhey B

Will of the Law

308 O =59

Will of the people

\/'\?
L Dee sl

Question Number : 120 Question Id : 64517817335 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘State as a machine” was the idea of;
'00%5333 2% choEroro” @ adfSs Do
Options :

Marx and Lenin
5By SBatn 8IS

1. %

Hobbes and Locke
P SEey sobain erB

Rousseau and Hegel

. Bref 8% 3RS
3.

Green and Hegel
. (AS HoBcsn NS

Question Number : 121 Question Id : 64517817336 Question Type : MCQ Option Shuffling : No Display Question Number :



Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Who was the Vice President of India when Sarvepalli Radhakrishnan
was President of India?
ﬁfﬁé&’;@ D“iﬁ%\éE m@’&ﬁ@ﬁ HRRIPE ﬁéovi‘;e")@ aeatin?

Options :

V.V Gir

% D908

Mohommed Hidayvatullah
S0sm)6 ertSohther

Zakir Hussain
3 P tal a’mfgjﬁ

.S Pathak

L x B 35 8

Question Number : 122 Question Id : 64517817337 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
which Act introduced representative institutions in India for the first time
under British Rule?
BB Frods® o Sesin (Heeddn grdd G¥5mS® Indd F6r EraSs
Joged S38 2858 ?

Options :

Indian Councils Act 1909

L% artied Shotene zﬁ%aﬂm 1909

Indian Councils Act 1892

_— grides sootiene t‘ﬁ%m 1892

Indian Councils Act 1861
3 & geties shotiene ét’gé’m 1861

Government of India Act 1919

L% gria (Db Héem 1919

Question Number : 123 Question Id : 64517817338 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Who among the following was not a member of Cabinet Mission Plan?
Bod B8P BDIS RS (Herd¥ 280y & =028,

Options :

Lord Pethick Lawrence

L% @vg 255 e7oe

Sir Stafford Cripps
56 5 %)

AV, Alexander

0.8 eB3mrold
3, ® 2

Lord Wavell

L s 336

Question Number : 124 Question Id : 64517817339 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which article of Indian Constitution covers Right to Constitutional
Remedies?
oreRgolf HBIPE e 5%3;, (2ESeas0.

Options :

Article 25
| (HE8eas0 25

Article 32
Y (2880 32

Article 30

| x EE0m0 30

Article 360

| x 555050 360

Question Number : 125 Question Id : 64517817340 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

African Nuclear. Weapons Free Zone freaty was singed
in the vear :
ol onyd S5rd fode adpdin Sodtin dohald HodE)Btn

Options :



| 2009
1996
5 % 2001

L% 1999

Question Number : 126 Question Id : 64517817341 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many articles are there in the United Nations Charter?
¥gores; D80S Dign & i)y (ESmanen Sexh ?

Options :
| = 110

, % 121
Lo 11

4 % 101

Question Number : 127 Question Id : 64517817342 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following is correct statement?
808 OS® HBGH (LD AB?

Options :

National Consumer Disputes Redressal Commission was constituted in 1986
| % =D DAGeTte Daets HBaRS EWAS 1986 &° DedDoassn

The Consumer Protection Act is a Social Legislation

|, DAERKThe B Shin af FEeRl Sedn
2.9 =N 5] S

The first president of National Consumer Disputes Redressal commission was
justice Suhas C. Sen
2p80h DIBrKTethe Dl H0e8 BN InBE eiHtd =yn

L s 585



National Consumer Disputes Redressal Commuission 1s headed by
retired Supreme Court judge only.
eBcH DIFFTHe Darts S50amb B eigHan 5658 DBHes srohS

ALy Eﬁg 08 S DoHeoH@ED.

Question Number : 128 Question Id : 64517817343 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Whose opinion is that Public Administration is a body of “exact

knowledge derived from experience and observation™?
[598D8s ol TNHD ¢ ©HPHHn Hddn HBdoto Hod [KiroSndl pNEId

Dezdsm’ @f)archHBS6:
Options :

Woodrow Wilson

- SIE° Dend

Henry Fayal

D FeahS
W.Riggs
. een. B8Ry
Charles A. Beard
. D00 o.2R5
4. % - o

Question Number : 129 Question Id : 64517817344 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
National Development Council is headed by:
S LYoV @ﬁ}a’gg S0otil eiEHt
Options :
President of India
L% gl U“[%:;EJ'@

Prime Minister of India

5 o @88 S Eo@

Union Home Minster
3 % S0l oy Hold



Union Finance Minster
. ol @gé aogy $00|S

Question Number : 130 Question Id : 64517817345 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
India’s “look East Policy’ was mitiated under the Prime Ministership of:
aises B ‘Erdy) S5 DeeEn’ [Erdododadidt o [Hord ol
m@d‘oéé&&ﬂnéﬁ?

Options :

P V. Narasimha Rao
|« 2.3 dBaostoee)

A.B. Vajpayee
» # &8, € How

Man Mohan Singh
H397S Hoh

3. %
Narendra Modi

4« 001 38

Economics
Section Id : 645178519
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 645178634
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 64517817346 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The analysis concerned with explamning the determination of
equilibrium values with a given set of data known as
BaX@bs Sepod 5550H08" Dendes Ranetey doptes D560 DFes

Options :



Static Analysis

L Qe AT

\[ 1CT OECOIIOIHIC '111311’515
§é ES ﬁn@ a‘j%ag&

Dynamic Analysis
Sexd OB

Macroeconomic analysis

Sre) @908 DENes
4% @ @ @

Question Number : 132 Question Id : 64517817347 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Because of the assumption of constant utility of money. the cardinal
utility analysis neglects the impact of
(655 (adresdo %)CSOTT" SotNoSS  Hhah sedmone S"QE{SEE (B Daies
:‘ij}ﬁéaoiﬁ [BersHo
Options :
Price effect
| w8 Earso

Substitution effect
) % [Besegarmdd (Dgrio

Veblen effect

3 % Jad Pgrdo

Income effect
etPaD (Do

Question Number : 133 Question Id : 64517817348 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The statement showing “being other things remaining the same.

the proportion of income spent on food items diminishes as income
increases” i1s known as

Shfiee sesren QBorT GoET surcho RBAS 5§ &8 Shden a0

S0 EBiinod e Frihtgos® Lo

Options :



Gossen’s law
| % a0 Gr@o

Greshma’s law
) % MBS “migo

Engel’s law
= et !
- ao@eS ¥lgho

Hicks — Allen law

4% 2rE)-e8d drgo

Question Number : 134 Question Id : 64517817349 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In case of ‘L’ shape indifference curve, the marginal rate of
substitution (MRS) between the goods will be
aoehd SEdy ‘L’ oo 850 &08 Both dhide sotds esarod (58
ﬁééﬁs‘%voé Bén

Options :
Zero
, drds0
1.¢

More than one
, % 88 Ba o8y

Less than one
w58 éa‘g_ éé}&a’i

Infinite
4 % @080

Question Number : 135 Question Id : 64517817350 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to the Law of Variable Proportions at the end of the second
stage (dmmunishing returns). the marginal product of the variable factor 1s
Soedoakd Gl Bokd 8% (8w (58 Here $5¥) Snhos DohdH Eala)
SBse88 Garod (Hdredo.

Options :



More than Average Product

Difen &8 Bol) QD
1. ® o

Equal to Average Product
Srién 638 Sirido

2. %

Equal to Total Product

_— dngo &8 & Drido

Zero
4 v BFREO

Question Number : 136 Question Id : 64517817351 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As regards the relationship between short run costs. after the intersection
of Average Cost curve (AC) and Marginal Cost curve (MC), as MC rises
o) 508 Hoireh Somofod) tarod Hidh By (MC). Siféw alfory B
(AC) polioth &%) Doths) edosdo, (MC) Sy 2OAS

Options :

Average cost also rises

Hiden Do Erae HIH

Average Variable Cost also rises
Sifen S50 Oy Eroe DD

Average Fixed Cost gradually falls

3 % Ddifen QB Eﬁagdéjéa} [Eshorr Sihio

All of the above

L P dhohoe

Question Number : 137 Question Id : 64517817352 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
At the best level of output. if price (P) exceeds average variable cost
(AVC) and is smaller than average cost ( AC). the firm
&85 SHEE 5G §8 (P). Den I8 dxoho (AVC) g0k ¥R Baio Hifén
35000 ( AC). &) SE5 &),

Options :



Makes a profit
L% ergrd)) @ingidodi

Incurres a loss and should stop production
$apR) Brothi svHd 6480 eblctrd

2. %
Experiences a break — even
3 % BE - %35 H odhdohid
Incurres a loss and should continue production in short — run
_ Eé:?gﬁ)\. @“o&éﬁﬂﬁgﬁﬁ ‘556150':)055 5588 O S8R0
4.9 2 » Sl

Question Number : 138 Question Id : 64517817353 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In monopolistic competition

DE Fxgd 08 &°
Options :

Many firms sell a homogenous product
SRS Hoigen BerBioh ShDHe oiygo Sakom

1. %

Many firms sell a differentiated product

-~ B Dogen s SHeih wito Saron

Few firms sell a differential product

T = “, ) 3
L 87 Sogen Hiphs SHedh esyto Vo

Few firms sell a homogeneous product

8% Soxen Serdcdh ShdHe wiygo Saron
4. % E:

Question Number : 139 Question Id : 64517817354 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following statements is correct?
BIDS DEUR) BE° DO [HBTDNE?

Options :

NNP at factor cost = NNP at market prices — indirect taxes — subsidies
688 siwo Gag 88 rd@ra)l = SO §56° @dErd)d -56i SNy ~$8)den
1. %



NNP at factor cost = NNP at market prices + indirect taxes — subsidies
668 sl ary V80 ePBErEE = SrOES $OF erd@raS + HEEHHen

5 # —a%é@

NNP at factor cost = NNP at market prices — indirect taxes + subsidies
638 seisre Sy V88 8@rd8= o5 §88° rdard)s -

56%5580en + dHden

NNP at factor cost = NNP at market prices + indirect taxes + subsidies
68)8 050 gipy 58 edTrSB= S0 §56° mdarg)s +HEERm + SE)ie
4. %

Question Number : 140 Question Id : 64517817355 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Rupee and all other coins in India are called as
58 B¥os® Braron HBoH a8 THe S HFore Devardh?

Options :

Bank money
| argolh (B0

Representative money
[Er8; (5a%0

2. %

Inconvertible money

SrE8 Dew =0 (eSa350
3. % “

Token money
&85 (S50
4.9

Question Number : 141 Question Id : 64517817356 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct?
BIHS 3008 HE DO HBGHHH?
Options :
The smaller the cash reserve ratio. the larger will be the expansion of credit

L Hiieh Denddeo DB SRS 08 HB5S Dhe ohtore ot



The larger the cash reserve ratio. the larger will be the expansion of credit

. SR Vende S @hHBore 08 5558 OH5m ehHorr sothid
2.

The greater the cash reserve ratio. the larger will be the value of
deposit multiplier

S Dendeo VNS SEydHre o8 Sarad Hnto Do whHEorr Gothid
3. %

Both (1) and (3)
. 28 808 (1) H6aiw (3) $oH5.

Question Number : 142 Question Id : 64517817357 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following i1s NOT an objective of Demonetisation policy
implemented by Government of India on November. 8, 20167

SSoab 8, 2016 &° ol (23gDéfco esheniB (B2 G37)00es (Demonetisation )
QrSa) oFgo A6 267
Options :

To curb black money and corruption

" e HRo 0bdin wodfifod &5 Jardes
I.

To Prevent counterfeiting of currency notes
B30 ($aegf)y DB GoE

To encourage deposits in Jan Dhan accounts
25 85 graread® Baraiid [Erefyirochits

To fight against terrorism by cutting off cash funding of terrorist
groups operating m India
grtses B¥os o s éo}g@é) (853 Dgbe DenHde

4.%

Question Number : 143 Question Id : 64517817358 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who has insisted that “public finance must be functional finance
and not primarily revenue oriented™?

“@’Jai)éé DFo orad FEd @GS oo sHore DiHeos® &rd8 Ddo

( functional finance ) e gored) 806 W

Options :



Peacock & Wiseman

Se0E & J0sHS
1. %

Dalton

2 T8

Wagnar
b

AP Lemer

 A.D.e5b
4.9 =

Question Number : 144 Question Id : 64517817359 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to Adam Smith every person should pay to the government
according to his ability to pay — this proposition relates to his

oS (Heedo B8 K8 85 IDod m‘”ﬁﬁ)%ﬁ)& ( ability to pay )
©HHBod [Hihels Sdnd 3Domrd. 030 HarSHe Psebo 56

Options :

Cannon of Certainty

o DD Srio

Cannon of Equity

) DsnEe JP|go

Canon of Convenience

- TEGs ar(do

Canon of Economic
4% and 53500 W o

Question Number : 145 Question Id : 64517817360 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a part of tax revenue to govermment of
India?
Bob 86 Bols (238D Hnoead ( tax revenue) &t ©odoyNo 5%0?

Options :



Taxes on mcome and expenditure
estrdho Hdain 5o @ D&oT 53y

Interest receipts and payments
écé SDoHen B Teathen

Taxes on property and capital transactions
enen B0k Hwre §B HPtore D oD Hiy

Taxes on commodities and services
5%, Do 8y
4. %

Question Number : 146 Question Id : 64517817361 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the horizontal distribution of funds to states. the Fourteenth Finance
Commission has given highest weightage (1n percentage) to
DG t‘f“L_a;\‘?:ﬂ’e:léj Do SEross Hobd (horizontal distribution) 8 Dowofod

14 5 @Qé 20500 S8 WoFNE VEHE [TrErigEdob.

Options :

Forest Cover

estony 5%0
1. ® —o@

Income distance

ested Neeeco
2.¢ 73

Population

2aaTmeTe
3.8

Area

(@roso
4 %

Question Number : 147 Question Id : 64517817362 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fiscal deficit 1s equal to
8% SPenid 308

Options :



Budget deficit + government market borrowing and liabilities

|, 985 S0+ (b 58 S-S Seres Sbab edyen

Total Receipts — Interest payments

. ® Swedo ol - 66% 3O ospen

Budget deficit — government market borrowing
2ges e - [4hesy 58 S0)E5 Srearen B e en

Revenue receipts — Revenue expenditure
B3y oeds — B3y g0

4. %

Question Number : 148 Question Id : 64517817363 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
As per Economic Survey 2019-20. the projected GDP growth rate
for 2021 fiscal year is
2019-20 8% 53 (Hevto, 2021 88 JoHH8 wodse I -
e o¥a@re$d GDP) A Oén

Options :
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Question Number : 149 Question Id : 64517817364 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per the proponents of Theory of Balanced Growth
HoBDSE 5B (28 ariHe [HseBo

Options :



Social Marginal Product of an Investment is greater than Private
Marginal Product
a8 Dénad Go¥) FosnE  &arod SESEE, (203365 saross BEv)iEs

go&s &)é}&?ﬁ

1. %

Investment should be made in a number of Industries simultaneously
@8 BB o8 0 08 Budos® Deyd oD

Enlarge size of the market to induce mvestment

\ 2tP2EY [@everodHid St H8sreed) Dbomd

All of the above

i R ey

Question Number : 150 Question Id : 64517817365 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The poor as percentage of Indian population in 2011-12 as per
C.Rangarajan Commiittee report was
2. BoK oeesl ESn® DS6E (Hsedo 2011-2012 KosdoeRs
Ho20b0d) rdd B margr & Daed o
Options :
12.4%

4.4 ©



